Flux [m])y]

Best model for HELP J142804.838+342639.952 atz = 1.6 x%>=30.74
OPTx?=37.36 IRx?=3.09 threshold (OPT IR)=20.8 [um]

102 : Stellar attenuated
= e Stellar unattenuated
—— Dust emission
—— AGN emission
= Model spectrum
® Model fluxes
M oObserved fluxes

101

100

=
o
AN

=
o
N\

=
o
o

<
B

=f= (Obs-Mod)/Obs

I
=

T T L T AL T L | T L | T L | EME
10° 10t 102 103 104 10° A
Observed wavelength [um]

Relative residual flux
o
1
1
1
1
1
1
1
1
[
1
1
1
1
1
1
1
1
1

o
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
[



